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 SECTION A  

I Choose the correct option.  

1 Identify the number from the abacus. 

 
 

 

 

 
 

 

 

 
 

a) 3,64,375 

b) 4,37,365 

c) 4,35,474 
d) 5,63,734 

1 

2 Round off the number 89 to the nearest 10. 

a) 90 

b) 80 

c) 70 
d) 100 

1 

3 Which is the smallest 5-digit number? 

a) 1,00,000 

b) 9,99,999 

c) 10,000 
d) 99,999 

1 

4 The expanded form of 49,652 is: 

a) 40,000 + 9000 + 600 + 50 + 2 

b) 9000 + 4000 + 600 + 20 + 5 
c) 20000 + 5000 + 600 + 90  

d) 40000 + 900 + 600 + 5 + 20 

 

1 
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5  Write the number for the number name ‘ Seventy-one    

 Thousand Four Hundred Twenty-Eight. 
a) 17,428 

b) 71,408 

c) 70,148 

d) 71,428 

 

6 A company earned ₹32,167 in the month of January and 
₹23,112  in the month of February. Find the total amount 
earned in the two months. 

a) ₹ 32,167 

b) ₹ 23,112 
c) ₹ 55,279 

d) ₹ 66,378 

 

II Fill in the blanks.  

5 The Hindu- Arabic numeral for XXIII is 23 . 1 

8 Greatest 6-digit number can be formed by the digits 
1,4,6,0,5 and 2 is 654210 . 

1 

9 The difference between 16,998 and 12,000 is 4,998. 1 

10 The place value  of  5 in the number 1,57,231 is 50,000 

 

1 

 SECTION B  

 Answer the following questions.  
11 Add.  

   2    7    5   8   4 

+ 3    2    4   1   8 

______________ 
   6     0    0   0   2 

______________ 

 

2 

12 Arrange the following numbers in descending order. 

37,890              62,010               5720             85,001 
85,001      62,010       37,890     5,720 

2 

13 Check the answer by addition. 

   8    9    1    4   5                   2   8   7   0   1 

_ 6    1    3    4   4                 +6   1   3   4   4 

______________                  ___________ 
    

   2    8    7    0    1                   9   0   0   4   5                     

_______________                ____________ 

 

2 

14 Solve. 

4562 - 2584 + 1235   = 3213 

            

2 

15 A man deposited ₹27,580 in his bank account and after a 

few days he withdrew ₹11,004. Find the money remaining 
in his bank account.  ₹27,580 - ₹11,004 = ₹ 16,576 

2 
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